FIRST TERM EXAMINATION 2019

CLASS 5
ANSWER KEY
SECTION A
0.1 Read the following passage and answer the questions that follow:
AFill in the blanks : (1/2x4=2)
(i) pilot  (ii)telescope (iii) four, Dad
B. Complete the following sentences: (1x2=2)
(i)Neil had his student pilot’s license (i) astronaut Neil Armstrong was the first human to set foot on the
moon.
C. True or False: (1/2x4=2)
()False (i) False (i) True (iv) False
D.Answer the following questions: (1x1=1)

(iif) Neil Armstrong was the first human to set foot on the moon.

Q.2.

A. On the basis of your reading, choose the correct option: (1/2x4=2)
(a) insects (b)bothaand b  (c)six (d) to defend against enemies

B. Write True or False: (1/2x4=2)
(i) true (i) true (i) false  (iv) false

C. Complete the following sentences: (1/2x2=1)

@..cn.... them, they will not bother you
() I red and orange.
D.Write the synonym of the word ‘protect from harm or danger’ (refer to para 3) (1x1=1)

defend

E. Answer the guestions in one or two_sentences: (1x2=2)

@-....... head, body and stinger.
(i) They need to fly to get to the flowers.

SECTION B (WRITING) 20 Marks

Q.3 Content- 2 marks Fluency- 1 mark Expression- 1 mark
Q.4 Content- 2 marks Fluency- 1 mark Expression- 1 mark
Q.5 Content- 2 marks Fluency- 1 mark Expression- 1 mark
Q.6 Title/ Moral- 1mark Content- 2 marks Fluency- 2 mark Expression- 1 mark

SECTION C (GRAMMAR) 20 Marks
0.7 Pick out the subject and the predicate in the given sentences and write in the answer sheet:
(1/2x4=2)

(a) subject-Jack Predicate- was singing in the park

(b)subject- The teacher  Predicate- corrected our notebooks



Q.8 Rewrite the following sentences using the correct punctuation marks: (1x3=3)

(&) When is your birthday?
(b) Hurrah! We won the match.
(c)She enjoys sweets, chocolates, ice-creams and pastries.

0.9 Rewrite the following sentences by changing the gender of the underlined nouns: (1/2x2=1)
(a) uncle, his son (b)niece

Q.10 Fill in the blanks with the Abstract nouns formed from the words given in the brackets:
(1/2x2=1)

a) truth b) bravery

Q.11 Fill in the blanks with the correct pronouns: (1/2x4=2)

a)ours b)theirs c)you d) this

Q.12 Choose the correct preposition : (1/2x4=2)
a)on b) between c)in d) at

0.13Fill in the blanks with the articles(a, an or the): (1/2x4=2)
(@a,the (b)a (c)an

Q.14 Fill in the blanks with the appropriate adjectives: (1/2x4=2)

(any appropriate adjective)

Q.15. Identify whether the given sentences are declarative, imperative, exclamatory or interrogative:
(a) Interrogative (b) Declarative (Ix2=2)

Q.16 Rearrange the given words to frame a meaningful sentence: (1x3=3)

(a) The Sun was shining on the farm.
(b) The farmer planted the seeds and the seeds grew into plants.
(c) The farmer enjoyed working in the farm.

SECTION D- LITERATURE(25 marks)
0.17 Write the meanings of the given words:

drowsily- dozing
deafening- very very loud
bill-beak

snuggled- cuddled

Q.18Write the antonyms of the given words:
comfortable x uncomfortable
remember x forget

Q.19 RTC- (1x3=3)

A. 1) more than three 2) for warmth and light  3) the narrator



B.1)......... the owlets (Ix3=3)

2)........ dozed on the hat- stand
3).....their sharp eyes and powerful beaks
Col) e, Time Travel....Robert Frost (1x3=3)
2) ... poet wanted his senses to become less clear because of the speed of the time machine.

K) to the past.

0Q.20Answer any THREE of the following questions in 30 to 40 words: (3x3=9)
1) w.......d rough sort of nest...birds had fallen...due to rain...found by the veranda steps...of the narrator’s
house.

2) ....What is the moral of the story- The Man and the Tiger? (1 mark). ....finally wrote ‘Love of gold can be

dangerous. (2 marks)

3) e every tree, every plant ...flattened...looked like a bomb had gone off....narrator's car was
flattened....at a distance...saw dark clouds...rolling at a great speed... going to be a heavy storm.

4) ....the bird’s fault...his fault...because he could not enjoy the song of the bird.

0.21 Answer any ONE from the questions given below in 60 to 80 words: (6)

1)Shankar was lost to the world...left shoulder resting against the wall..Rajam had become...writing
machine...Mani was gazing...roof...scratching his chin..the pea..was leaning back in his seat...revising his
answers....one supervisor was drowsily seated....chair...another...walking up and down

2) the narrator................. because there was a cyclone.....the wind was screaming.....all the things
were crashing....they were protecting themselves....(2 marks)

........ every tree, every plant ...flattened...looked like a bomb had gone off....narrator's car was
flattened....at a distance...saw dark clouds...rolling at a great speed... going to be a heavy storm.
(4 marks)



